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Answer Sheet: Hard & Hardly

Choose the correct answer.

Q1 - Sheworksso .

v" hard

I:I hardly

Q2 - It was a bit boring because anybody cameto the party.
D hard
v hardly
Q3 - She ever drinks;, maybetwice ayear.
I:I hard
v hardly

Q4 - Shehas said aword all day.

D hard

v hardly

Q5 - He going to fail because he does any work.
I:I hard
v hardly

Q6 - Shefailed because the exam wastoo for her.
v hard

D hardly

Q7 - Shehas any freetime since she started her new job.
I:I hard
v hardly
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Q8 - Hefindslearning languages very .

v hard

I:I hardly

Q9 - I'vemade any progress on my cour se.
I:I hard
v hardly

Q10 -Hegavemeareally time because he didn't like me much.
v hard

I:I hardly
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